29000 AW H +FERNEEEX

7= miiEA

M

BHETEMN 1.4308,

B 4L 8248 1SO 4762 MAARF 1SO 4032 , FEHEMH,
KF @30 mm HI<AIER 1SO 4017 , TEMH,

I
Z B IALIE,

BR:
BE&7 30 M 40 mm WEELEEEFNRSER |, BHIEAAR2HR
SRS IR R,

BEEK
AT EENREM,

B
- A EMAFE 29050

© norelem www.norelem.com



29000 FHEWH +FEREREX

! V T 1 T
o _-.l_i_.- _-..:_ [
: \\ T
P /—\\
Ly —4— __%_- = -— o
AL
l/ B
29000-11212 A 12,1 12,1 20 | 25,5 25,5 64 23 23 49 M6x18 M6x18
29000-11414 A 14,1 14,1 20 | 25,5 25,5 64 23 23 49 M6x18 M6x18
29000-11616 A 16,1 16,1 20| 25,5 25,5 64 23 23 49 M6x18 M6x18
29000-11818 A 18,1 18,1 20| 25,5 25,5 64 23 23 49 M6x18 M6x18
29000-12020 A 20,1 20,1 21 25,5 25,5 64 23 23 49 M6x18 M6x18
29000-13030 B 30,1 30,1 33| 324 32,4 92 455 455 73,5 M8x30 M8x30
29000-14040 B 40,17 40,17 42 | 40,4 40,4 118 52 52 95,5 M10x35 M10x35

© norelem www.norelem.com




